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* Black line: power law + gauss fit Fluence : 39.41+/- 10.13 c/cm? ]
~ Dashed line: power law o ) ' T
- Duration: 17.20+/- 4.94s -
| Best fit model: 1. l
- Best fluence model: 1. .
B | } Best durationﬂo el: 1. | +
3 \H WIHMHJ | MM[ Iy L | | H\ Lt M) Al
R sl
; Exponential fit é
= Expon.time: 5.68+/- 1.48s (chi*-red= 0.85) J
e e
= % | Bt | oIt A=
ST ﬂﬂw*mﬂm*wﬁﬂﬂﬁwﬁwﬂﬁfﬂjﬂﬂHﬁﬂmﬂﬁﬂ*ﬁ &wHWHWW*+ﬁﬂMﬂ#*#wﬂ#HHWﬁwﬁ HH+H+#MHQﬁﬂ+*WHﬁ*mﬁﬂHWWMmﬂﬂﬁww
; Power law fit é
E Power law index: -0.997+/- 0.208 (chi*-red= 0.87) =
- e
E * | fyy + b A=
= mﬂﬁﬂ*WMWﬁ#ﬂﬂ%:WHﬁwﬂﬂﬂ s o e HHHﬁﬁﬂMHHTﬂ*ﬂHﬂﬂH%ﬂﬁHﬁ%ﬁﬂHﬁﬁﬂ%ﬁﬁﬂ*ﬁ%ﬂmw
i T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 5.10+/- 0.60 s, fracgs= 0.46+/- 0.20) =
= Power law index: -0.960+/- 1.080 (chi’-red= 0.85) 3
e e
= | + P | oIt A=
= g ww*wHﬂ*H+ﬁﬂ*Wﬁﬁ%fﬂjﬂﬂHjﬁmﬂﬁ*ﬁ HHﬁﬁﬂﬂﬁﬁﬁmﬁmw1#ﬁﬂ#ﬂmﬁiWHWNWWWHHT*ﬁﬂHw*ﬂwMﬂﬂﬂﬂﬁm*ﬁﬂﬂﬁﬁm%
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 30

Time [s]

0



